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POLITICAL SCIENCE

Time allowed : 3 hours ] [ Maximum marks : 100

iR @& : 3 go2] [T 3% : 100

General Instructions :

(i) All questions are compulsory.

(ii) Question numbers 1 to 10 are of one mark each. The answers to these questions should not
exceed 20 words each.

(iii) Question numbers 11 to 20 are of two marks each. The answers to these questions should
not exceed 40 words each.

(iv) Question numbers 21 to 30 are of four marks each. The answers to these questions should
not exceed 100 words each.

(v) Question numbers 31 to 35 are of six marks each. The answers to these questions should

not exceed 150 words each.
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(i)

(ii) 97 & 1 § 10 FT T%F J97 U 3 & & | Fedah J99 T 3¢ 20 ¥l G 37 @l alr
(iii) 797 & 11 @ 20 F7 qed% 797 gt 3% 1 & | ¥ 797 71 39K 40 951 7 374 a1 r

(iv) T G&ar 21 § 30 7 7% F97 =1 3% &7 & | Tedeb 797 71 307 100 9157 T 3146 7@ &1

v)
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TR |

7o &I 31 & 35 F7 GAF §vT B 3HF F & | §eds T F I 150 =T G 31 7T gt

TRy |

What is meant by US hegemony in world politics ?
forver TeTifer 3 STt T |/ T SIE § 2

Name the member countries of SAARC.

T89 (SAARC) & 95 391 & 19 faifigu |

What is ‘Amnesty International’ responsible for ?

“THAR TSRV o ST 1 8 ?

What is meant by global security ?

forea grem s a1d ¥ 7

Why should the ‘environmental concerns’ be part of contemporary global politics ?

“QITEROT G faual ot HHeREA dfvaeh T & B & &9 | a1 @1 SH=7 =iy ?

How far is it correct to say that globalization results in the erosion of State
sovereignty ?

TE e el b SUFT & (o AVAhT0T TS hi FHIAT T & el € 2
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7.  Which theory was behind the partition of India in 1947 ? 1
1947 # RA & [9TeT & WS A |1 f9gT=T o1 ?

8.  Give the full forms of the NPT and CTBT. Yo+ Va=1
TH. 9121 e |.21a. 2. &6 faega v fafan |

9. Who was P.C. Mahalanobis ? 1
Tt.5Y. TETAHIaE i ar ?
10. Why did India not join either NATO or SEATO ? 1

TR ‘T2’ 279a “Hiel’ 51 §& 1 Tal a1 ?

11. Whatis Cold War ? 2
M g5 |/ T S € 2
12.  Why is the fall of Berlin Wall in 1989 treated as the end of bipolarity ? 2

1989 ¥ FfcT sl SIAR & & ol 5-YaTadT o 3T=T F41 el AT 8 7

13.  What led to the formation of the European Union ? 2

AT T % TS T HRT 797 ?

14. Does globalization lead to ‘cultural homogenization’ or ‘cultural heterogenization” or
both ? Justify. 2

T AVATHIUT “WGpTAh FHEYAT ST R fafereer stera St st Wieaied e € 2
sfifae ST |
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15.

16.

17.

18.

19.

20.

21.
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How can we protect the rights of the indigenous people with regard to environment ?

TGieRT % GEH T qAaIaaT % SAUHRT H &l &9 HY H G § 7

Mention the role of Sardar Vallabhbhai Pate! towards India’s integration.

TR % THIEHTT & 7T FIER ToTHHTE T Sl JHH 1 Jeei@ BT |

How has the method of voting changed from the first General Election of 1952 to the
General Election of 2004 ?

1952 3 gt ST T § T 2004 F S TS 7, HAGH & I J 41 G AT E 2

Mention the causes of ‘Kargil Conflict’.

‘FRIATA Y’ & FHRON T Sooid HIAT |

Why did Dalai Lama seek refuge in India ?

TATE ATAT A WA | IR0T =7 &1 2

‘Regionalism does not imply separatism’. Explain.

SIS T STIUTT JAFHAER Tel & |” AT HIT |

India’s policy of non-alignment has been criticised for being ‘inconsistent’ and
‘unprincipled’. Do you agree ? Why ?

Re it e-FRuerar st Hifd S srfafma qun fegrade we g | @ e 3w G |
WeHd § 7 /41 ?
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Answer Book.

the following questions in your

Vaxd+lax4=4

(a) Identify and name the countries marked A, B, C and D respectively.
(b) Write the names of the following U.N. Secretary Generals with the names of
the countries they belonged to.
(1) Dag Hammarskjold
(2) Kurt Waldheim
(3) Boutros Boutros-Ghali
(4) Kofi A. Annan
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() T U GG & ATAEd Herareai & A8 37 $9H-370 397 % G i@ |

(1) TERES
(2) d areeEH
(3)  TRE R et
(4) HH T FFTH
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For Blind Candidates only in lieu of Q. No. 22 :
Answer the following questions : 2+1+1=4
(a) Name the countries to which the following U.N. Secretary Generals belong :
(1) Boutros Boutros-Ghali
(2) Kofi A. Annan
(3) Kurt Waldheim
(4) Dag Hammarskjold
(b) Who was the first Secretary General of the United Nations ?
(c) Name the UN Secretary General who belonged to Asia.
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Fael gIeEIA QRientorat & foTe uee | 22 & TIH W

FepefeAfiae et 3 3o AT _
() Frefafes Termfaat § § weie & T 3o @ T fafau
(1) R e et
(2) BT A
(3) el eeEm
(4) <TETEIES

(F) |YH W W & YA HerHrad H 94 fAarag |
(@) uferar ¥ gt G99 W F Herrad w1 W ey |

23. What are the reasons behind the rise of international terrorism ? 4

IR TR W TG0 SGHATR & U1 FI1 FROTE 7

24. What is the significance of Kyoto Protocol ? Is India a signatory to this protocol 7?3+ 1=4

‘SRS WISThTet’ 1 o1 Hewdl & 7 0 9Ra 3 39 998 (Protocol) W &R fpu & ?

THEY SAID
THEY'LL SUPPORT
THE GOVERNMENT
FROM OUTSIDE !

The National
Front
Government Loy | AL 2 3
ledby V. P. 5 T T R S W
Singh was Ay =
supported

by the Left
(represented
here by Joyti
Basu) as well

as the BJP
(represented by
L. K. Advani)

Look at the cartoon given above carefully and answer the following questions :
(a) Does the cartoon refer to a puppet government ?
(b) Describe the role of such a government in the Indian democratic set up.

(c) What is meant by ‘Support the Government from outside’ ? 1+2+1=4
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(37) T TE FleA FHOI FHR Dl T Fehel HAT 6 ?

@)

®

RATT AT e § THI TR i JHeH Hl J0H HIT |
TYHR i e F THIA AT 39 FIH  Hq1 A 8§ 2

For Blind candidates only in lieu of question No. 25 :

Answer the following questions :

(a)
(b)
(©)

What is a coalition government ?
What role does it play in the Indian democratic set up ?

What is meant by ‘support the government from outside’ ?

Fael gzt adtentorat & fore wee 93 25 % WE W
fA=fatEd et % 3O S

(31) TeEYT I WHRK T T AW § 2

@)
®)

U TRHR Bl TR I ARl SFaedt § 727 e & 2
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26. The phrase ‘Aaya Ram, Gaya Ram’ signifies which concept ? Explain its impact on
the Indian political system. 1+3=4

‘ST T, T I’ T GETeRT FY STTURUT Sl 8 € ? R TS ST W
WIS Tl AT HIT |

27. 'What was Godhra episode ? What were its after-effects ? 2+2=4

TERT S T 91 ? TS SA-UAE =T ?

28. Describe any two advantages and two disadvantages of ‘coalition’ government in
India. 2+2=4

TRA | a9 TIHR F &7 7T forqey § foreel Si-at el &7 <01 SHiteid |

29. How did the prevalence of ‘one-party dominance system’ adversely affect the
democratic nature of Indian politics ? 4

“Teh SO T WG’ T R TSI 3 Siehaiies i U1 Widehet TTe S ae ?

30. Explain the rise of political violence in the North-Eastern part of India. 4

R & STR-JaT ST F Tt A0 [T i SATEAT HIT |

31. What is meant by ‘Shock Therapy’ ? Assess its consequences on the post-communist
regimes. 2+4=6

OR
Examine India’s relationship with the former Soviet Union during the Cold War.
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32.

23,

34.
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“Yiteh SAT | A7 U & ? ST HrFaTE! TS OX S GNOET S STRe ity |
srgqar

i g5 % IR qHadT Tifead T % | IR 3 G-l T GIeI01 FHie |

Evaluate India’s changing relationship with USA.
OR

Analyse the role of USA in global war on terrorism after the attack on the World
Trade Center on 9/11 in 2001.

YT T ST & WY TR 6 TGl Tra=4] Tl Hodieh ity |
rear

11 faawmr 2001 F T6€ T8 T=X W HAV F IR IAHAR F (@A [Gvaeiid g §
T TS STHLHT ol T T [TTATOT HITTT |

Explain the factors responsible for the rise of the Chinese economy.
OR
Explain the vision of the ASEAN for 2020.

T 37T i I & [T TS FH 1 AT HIAT |

HYAT

2020 % fow e st WH-g (vision) i SARAT HIT |

‘The emergency declared on June 25, 1975 is seen as a blur on Indian democracy.’
Assess its impact on the party system in India.

OR

What is ‘Naxalite Movement’ ? Evaluate its role in Indian politics.

10



25 ST, 1975 1 SIS [T T STOIeTet S TRAE T I Se T e ¢ 1”59 Jeon
% YRATG TeA19 TOTeR O T8 THTE Sl STheT ity |

HAYAT

THIAST! SR T € ? HRAF TSI A Tqepl T T Hodh BT |

35. Explain any three challenges for nation building faced by India at the time of its

independence. 6
OR

Answer the following questions based upon the Presidential address of Mohammad

Ali Jinnah at Karachi on August, 11, 1947 : 24+2+2=6

“We should begin to work in that spirit and in course of time all these angularities of
the majority and minority communities, the Hindu community and the Muslim
community — because even as regards Muslims you have Pathans, Punjabis, Shias,
Sunnis and so on and among the Hindus you have Brahmins, Vaishnavas, Khatris,
also Bengalees, Madrasis and so on — will vanish. ... You are free ; you are free to go
to your temples, you are free to go to your mosques or to any other place of worship
in this State of Pakistan. You may belong to any religion or caste or creed — that has

nothing to do with the business of the State.”

(a) Do you think that Jinnah’s statement contradicts the theory which was the basis

of the creation of Pakistan ? Justify your answer.
(b) What is the essence of Jinnah’s statement in this passage ?

(c) To what extent did Pakistan live up to Jinnah’s expectations in this passage ?
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HYAT

T 11, STRA 1947 B eI et fT gRT KU T sterely wior & SR W
fefeaa weet o ST i

g EHEE IR HETHEH G T S R B B A FH FA
TMeT | TFHETH 3R HTHEAF — I &l WETA! H aRE-a<E o 71T A & | SR Tea=
o, el forr aiR g onfe § 92 ¥ A e oft sErn, v, @t qen Sl wEh et
TR H... & SR WA & ST | Y § S S €, G S AL § T o o
T €, 39 9T HIESTE § S a1 fordlt oft 311 Uoireyer § ST o fow omemg € | @779 fepedt o

o, A1 47 favaT % 8 WA § — S U % HT R S B g6l 0 1
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